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Paper : PHI-HC-5016

( Analytic Philosophy )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10
fact spiR TTe faraRe e fign :

(a) Analytic philosophy emerged as a
reaction against realism / idealism /
utilitarianism.

Remare v IWEE / SR | TIPIeRTE
Rera sifeferm Rt e 2R |

( Choose the correct option )

(o= Read! ik Sfear )
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(b)

(€

(d)

(e)

A25/105

(2)

What according to Moore is the third
meaning of copula ‘s

T TS TRCAST T o LT % 2

Who is the author of the book, On
Denoting?

On Denoting 8371 (@4F (I ?

According to Moore, “Common sense is
certain and universally accepted”. Is the

statement true?
3R T, TR S RS S ST
Frer* | (3 ST oI ?

Give an example of molecular

proposition.

e o «fp Tzt |

Logical positivism 1S ~also lt:nowr;
as transcendentalism / intuitionism
scientific empiricism.
o2 AerEe weEaw [/ Eeds /
rqefae SfeEeRM AICHC8 &l I |

( Choose the correct option )

( wa fewch! AR e )

( Continued )

(3)

(g) Molecular facts are constituted by
facts.

EIGIECACKIERE] O q[l SIS |

( Fill in the blank )
( 1R 3R o= )

(h) Which of the following pairs is not
perfectly matched?

were Tl ARPTEE foeds @M @Rl e

. fm cEaRe
’\.gp (i) Language, Truth and Logic—
3}-7 G. E. Moore
o)
e / Language, Truth and Logic—
59 &2

g (i) Esse est percipi—Berkeley
Esse est percipi——ﬁﬁgiﬁ

(i) Vienna Circle—David Hume
fogam ve—cefen 2o

(iv) Logical Atomism—Bertrand Russell
TR SRAER—IGS A

( Choose the correct option )

(% Rwcdr af2 Tfere )
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(4)

(i) Write the name of the book in which
Wittgenstein refutes his picture theory of
meaning.

TBEE ST fgee TeAME 999 4
YR A o |

() “Language has many functions.” The
philosopher associated with this view is

‘o Rifew fem wmr 1 @2 TO0BR e Eiee
e tarr

(i) Bertrand Russell 7

Jhre W {
(i) G. E. Moore

fe. 2
(iii) Early Wittgenstein

4 SRR
(iv) Later Wittgenstein

J[qTO! TIHCABIRA

( Choose the correct option )

(o Rso! R Tfered )

2. Answer the following questions : 2x5=10

ﬁaﬁﬁ@m%@ﬁm:

(a) Why is Moore’s philosophy
common sense philosophy?

79 i R TR wErefes wfT IH @
27?7

A25/105

called

( Continued )

(S)

(b) Write the name of two Cambridge
philosophers.

voH (S A W o |

(c) What is family resemblance?

AR P 6 2

What is ‘state of affair’ according to
. Wittgenstein?
Q) MBI O ToeA1 81 WA £ 2

What are the three types of symbol
according to Russell?

=T o fofizwee o8 & %9

3. Answer the following questions (any foun :

9x4=20
frafefe errrs See fan (R e IRGY)
(a) Write a short note on Russell’s theory of
Description.
ez IfTogd ey «oft vy et fore |

(b) How did Moore distinguish between ‘blue’

and ‘c- asciousness of blue’?

M A R T TS TR @
N ot shRfe o
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(6)

Why do Logical Positivists try to eliminate
metaphysics from the domain of
philosophy? Give reasons.

R AT SRR [0 | crav
ST SR FIRALA (BBl A ? TR 7Ol |

Explain briefly Wittgenstein’s view on
private language.

TR eSSl AR TS0l YT
A 40

(7))

(b) What does ‘analytic’ mean in philosophy?

Why is analytic philosophy important in
contemporary  western philosophy?
Discuss.

e ‘ReEs’ e & 3w 2 TRk o
e Repmee [ e 71 o9 e
SCEAA T4 |

What is fact according to Russell? What
are the different types of facts? Explain.

(e) Distinguish between direct and indirect ;;—,[/‘,f 3 \ A T 5 R0 Rfex L &
yeriGabiioy R e Vo R T E
o SF AGPE STOlFAEeR WS A o it
IGEESEIN \‘Q\ (d) What is logical atomism? Do you

Write a short note on picture theory of
meaning.

consider it to be a sound philosophical
theory? Give reasons.

S R 5 ? T STegmeere e o
fgogs e{e «fb 5 Gl o= | :
ERG = o Reavm e 2 et wodmn |
; estions (any four) :
4. Answer the following qu 10%4=40 (e) Write an essay on the Vienna Circle.
AR e T il (R e Sifo) - focam1 vers faca @sw <om1 forar |
b 'C ar ments employed « = 3
(a) What are ihere;ftle g f;ﬁsm? Eieplsi, () “The world is the totality of facts, not of
by Moore to things.” Explain.
e T e ‘
Waﬂgaﬁﬁﬁiﬁ{zﬁ TSI (2R OY[ RN, W 7= 1 W
ez o e 7 T v 901
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(8)

How did Wittgenstein in his theory of
language game demonstrate the link
between meaning and use? Discuss.

SR (¥ ToIMe BLBREA @EE uY W
A e o oy IRMeT 2 weewal
01

Language is not one uniform thing but a
lots of different activities. Explain with
reference to Wittgenstein.

SE QA R TN B AW [We [few
fermreetol iR | TXBromBiee o IR WA
I

* * %k
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~/ PHILOSOPHY

.~ ( Honours Core )

Paper : PHI-HC-5026
( Phenomenology and Existentialism )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

fac P ©ore frapmd Tes fir -

(a) Existentialism is a philosophy of the
concrete/abstract man.
( Choose the correct option )

w78/ Ré Ifer v |
(= Rescd AR S )

(b) Name the Greek philosopher whom
Kierkegaard took as his model.

Fieames wfE B oz w1 e wrffaeeea ™
ferar 1
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(2) (3)

(h) What, according to Heidegger, is the
meaning of ‘Dasein’?

RO TS “TEzA 9 2

(c) Who is the author of the book, Being and
Nothingness?

Being and Nothingness 8831 S8R (Fl ?

(i) Is Husserl’s phenomenology concerned

(d) Name the existentialist who said that with the ontological status of the

authentic existence is the best possible essences?
nature of human exi

existence. . ol AT TPl AN AR STSF SR
e SRTF TR SR TG e ARy LA e wfve A ?

S S CiRe 2

k “() Is Husserl an intuitionist?

. .y,
0 Do e /o
e AR «F SRS S 3 %
Rezo T 2 2. Answer the following questions in brief :
2x5=10
were T epprEd oY e st - |

(7 1s Jean Paul Sartre an atheist?
fa) In what sense phenomenology is a

A25/106

w1 o g TRl B ?

' descriptive science?

(g) In which stage of existence, according to & ufo 28fAM ¢ IR Rem 2

Kierkegaard, an individual is said to be

ted to God?
relate (b) Write the definition of truth given by
FENET TS TG T TT© G IS Kierkegaard. |
P G0 T o 3 P 7 ' FIRNCS SRCERT R ol o |

( Continued ) ; A25/106 ( Turn Over )



(4)

(c) What, according to Sartre, are the two
different kinds of faith?

4T TS 42 9 fowet [ 62

(d) What is phenomenology?

AW F 2

(e) State any two obstacles that obstruct
man’s freedom according to Sartre.

Py We JfeARI FATere T4 GCARI R
CICT o1 el Teay 91|

3. Answer the following questions (any foun :

Wﬁmm%@ﬁm(ﬁmﬂﬁﬁf):

(a) Write a short note on Kierkegaard’s
mediacy’.

notion of life of pure im

5x4=20

(5)

(c) Discuss the significance of the statement
“Man is condemned to be free”.

‘IR TR 2’30 3140 1 SN —a SR
SIS 47 |

(d) What is care, according to Heidegger?
What are the three characteristics of

care?
FICOIARE TCo, 7ol I @A ? SgasH fefRG
T e 92

" (e) Discuss briefly humanism of Sartre.

T TSR RECH ST o= 47 |
(N Bﬁeﬂy explain Husserl’s concept of
intentionality.

R R Rl 1 ReRen aRe e

RISNEESIN

4. Answer the following questions (any foun :

10x4=40

e ‘fem  SICHAPON &ga’q 4RI
o o 5 BT T4 oS fil P T i (R e i) -
i . (@) Explain the -general characteristi
(b) Discuss_ briefly Husserl’s method of ity ristics of
bracketing.
wear™ A4
gt A TfST BY SHCTo IO | CEPRE T 41
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(6)

(p) What does Kierkegaard mean by saying,
«Truth is subjectivity and subjectivity is
truth”? Explain.

‘ooz 3R TNEPel WF SNpeR (R
ool —q3 SR TR Fedees & @R ?
SUSHESIN

(c) Write an essay on Kierkegaard’s view
about the stages of human existence.

Fracs T O AR Sew TPH R
e o1 ferm |

(d) Explain the relation between freedom
and choice in Sartre’s existentialism.

m‘am@@ﬁ@m‘a‘mwﬁwvfﬂ%w
9l |

(¢) How does Sartre make a distinction
between existence and essence? Discuss.

o g W FeTel 1 ARG GO (@M
oN1<fe 3jf8 40 ? SO F41 |

() Explain Heidegger’s notion of
temporality.

FBCOIET T FARFOR (REACOT I 341 |

A25/106 ( Continued )

(7))

(g) Give an account of Heidegger’s concept of
authentic existence.

Zfacosiad TN A SIS SFgT AR WA
301

(h) How does Husserl present the theory of
essence in phenomenology? Explain.

e AGIfeqme el A ARG ©eol

@R S9[EIR0R 7 I F40 |
* % %
574 N2
\“g"j"]t
. -\
ll'_.. et ‘_f_‘, }"( ),
TN .
n.-t’\.:’ . ; /
w e S 27
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